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Na.1
A&EH | AGH 5w 3O R FN R 22 | |
211 ~  1/11] 1500000 x 0298 X 37 / 365 = 39,189 ) [ | |
H9.1.13 65.000 1/12 ~ 1/12] 1500000 X 0298 X 1 / 385 = 1224 |, 40413 ol 24587] 1475413
: 1/18 ~ 2/10] 1475413 % 0298 X 29 / 365 = 34,932 | |
H9.2.12 65,000 2/11 ~ 2/11] 1475413 % 0298 X { / 365 = 1204 |\ 36,136 0 28.864| 1,446,549]
H9.3.11 83,000 2/12 ~ 3/10| 1446549 X 0208 X 97 / 385 = 31887 | 31,887 | ol 51.113] 1,395,436|
17 3/11 ~  4/11 1395436 % 0288 X 33 / 365 = 36,457 ] \
H9.4.15 62,000 4/12 ~ 4/14] 1305436 X 0398 X 3 / 365 = 4564 |\ 41021 | ol 20979 1374457
| 4/16 ~ 5/12] 1374457 % 0288 X 28 / 365 = 31,420 ||
H9.5.21 62,000 5/13 ~ 5/20| 1874457 X 0398 X g / 3p5 = 11989 [ 43,409 ol  18591| 1,355,866
- H9.6.11 62,000 5/21 ~ 6/10 1355866 X 0208 X 21 / 365 = 23,248 23,246 0 38,754 1,317,112
H9.7. 11 ' 60,000 6/11 ~ 7/10 1,317,112 % 0288 X 30 / 365 = 32,260 32,2680 0 27,740 1,289,372
H9.8.12 60,000 7/11 ~  8/11 1280,372 % 0288 X 32 / 365 = 33,686 33.686\ 0 26,314 1,263,058
, 8/12 ~ 9/11| 1263058 % 0298 X 31 / 365 = 31867 I [
H9.9.16 60,000 9/12 ~ 9/15 1263,058 % 03988 X 4 / 365 = 5,508 L 37,47‘6| 0 22,624 1,240,534
9/16 ~ 10/13] 1240534 X 0298 X 028 / 365 = 28,358 ||
H9.10.15 60000 | - 10/14 ~ 10/14] 140534 % 0398 X 1 / 365 = 1,352 |L 29,710 ol 30200 1210244
10/15 ~ 11/11 12100244 % 0288 X 98 / 365 = 27,666
| H9.11.13 50000 | 11/12 ~ 11/12] 1210244 X 0398 X 1 / 365 = 1319 | 28985 | 31018] 1179229
| Ha.12.12 60000 | 11713 ~ 12/11] 1179299 X 0298 % 29 / 365 = 27920 27,020 | o| 32080 1147149
[ 1212 ~ 1/12] 1147149 X 0208 X 3p / 365 = 29870 ] | |
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No.2

H10.1.19 ‘ 59}00{3\ 1/13 ~ 1/18\ 1,147,149 % 0388 X 6 / 365 = 7,505] 37,475‘ O] 22_525\ 1,124,624\
H10212 | 60000 |  1/19 ~ 2/11] 1124624 X 0298 X 24 / 366 = 22,036 | 22,036 | o| 37964] 1,086,660|
l 2/12 ~ 3/11] 1086,660 X 0288 X 28 / 385 = 24,841 ﬂ | l ‘ J
H10.3.16 | 50000 _8/12 ~ 3/15| 106660 X 0398 X 4 / 3g5 = 4799 |l 20580 o| 30420] 1086240|
H10443 | 60,000 3/16 ~ 4/12] 1056240 X 0208 X 28 / 385 = 24145 | 24145 | ol 35855 1,020385]

] | 4/13 ~ 5/11] 1020885 % 0298 X 20 / 366 = 24,159 || ]
H1061 | 14i1|  5/12 ~ 5/31] 1020385 % 0398 X 20 / 285 = 22262 |L 46411 | 0 25000 995,385
H106.15 | 60,000 6/1 ~ 6/14 005385 X 0298 X 14 / 365 = 11877 11377 ] o| 48823 946762
N \ | 6/15 ~ 1/13| 046762 X 0208 X 29 / 365 = 22,416 || ] \ \ K
| Hi08.4 o000l 7/14~ 8/3|  ose7ep % 0398 X 21/ ags = 21679 1L 44095 | o| 5908 910857
[ Hi109.2 60000| 874 ~ 9/1] 910857 X 0208 X 29 / 385 = 21566 | 21,566 | o| ss4sa| 872423
| H10105 60000 |  9/2 ~ 10/4| a70423 X 0298 X 33 / 365 = 23505 | 23,505 | o| 36495 835,028
| Hio.d1.11 | sa032 | 10/5 ~ 11/10] 835928 * 0298 X 37 / 085 = 25251 | 26251 | o|  29681| 806,247|
H1042.11 | 53772 | 11/11 ~ 12/10| 806247 X 0208 X 30 / 385 = 19747 | 19,747 o| 34025 772,222
e 47802 | V2/11 ~ 1710 772209 % 0208 X 31 / 365 = 19544 | 10544 | o| 28258]  743,064|
Mi1.2.12 ] 45'399\ /11 ~ 2/11\ 743964 * 0298 X 32 / 365 = 19,436\ 19,436[ g\ 27,463\ 716,501J
H11311 | 57506 |  2/12 ~ /10| 71501 X 0298 X 27 / 865 = 15794 | 15794 | o| @712l 674789|
Hi1.4.12 | 49,041 \ 3/11 ~ 4/11\ 674789 % 0288 X 32 / 365 = 17,629\ 17‘,629| gl 31,412\ GAB,SM
H11512 | sa703| 412 ~ /11  p43a7y x 0298 X 30 / 366 = 15758 | 15758 | o| 38035 605,342
\ ‘ 5/12 ~ G/H\ 05342 % 0208 X 31 / 385 = 15,320 ﬂ l \ l \
Hi16.44 | 41640 | 6/12 ~ 6/13|  gosa42 X 0398 X 2 / 365 = 1320 | 16,640 | o| 25000 580,342
r | l 6/14 ~ 7/12\ 580342 % 0288 X 29 / 365 = 13,740ﬂ ‘ l [ l
H11723 | 45752 | 1/13 ~ 7/20]  5go@42 X 0398 X 10 / 365 = 6328 | 20,068 | o| 25684 554,658
\ ‘ 7/23 ~ 8/11l 554658 * 0208 X 20 / 365 = 9,056 ﬂ l l l J
| Hi1.827 l 43143 | 8/12 ~ 8/26| 554658 X 0308 X 15 / 365 = 0072 [\ 18,128 | ol 25015 520,543
B l | /27 ~ ©/13]  bpop43 % 0298 X 18 / 365 = 7,783 | | | |




' Na.3
[ hi1.024 | 38,035 9/14 ~ 9/23] 529643 X 0398 X 10 / 385 = 5,775 13,558 | ol 24677 504966
\ 9/24 ~ 10/12\ 504066 X 0288 X 13 / 365 = 7,8331 \ \ \
H11.10.15 | 34118 | 10/13 ~ 10/14| 504066 X 0398 X 2 / 385 = 1101 |L 8934 o| 25184] £79,782|
= T0/16 ~ 11/11] _ 470782 % 0288 % 28 / 365 = 10967 I \ \ \ \
H11.11.25 | 42093 | 11/12 ~ 11/24| 479782 X 0398 X 13 / 085 = 5801 | 17768 | o| 25225 454,557
11/25 ~ 12/13\ 454557 % 0298 %X 19 / 385 = 7,051 ﬂ \ \ \ J
| Hi1.12.24 77o18| 12/14 ~ 12/23] 454557 % 0398 X 10 / 365 = 4956 |, 12007 | o|  25811|  428746|
i 12724 ~ 1/11] _ aga746 X 0208 X 19 / 365 = 660 I \ \ \ {
[ H12.1.26 seios|  1/12 ~ 1725  4e746 X 0398 X 14 / 365 = 6,545 |L 13,195 | 0|  25000] 403746
[ 1726 ~  2/14] 403746 X 0298 X 20 / 985 =  6:892 I \ | L ﬂ
| H12225 36344 |  2/15 ~ 2/24] 403746 X 0398 X 10 / 965 = 4402 |L 10994 | 0| 25350] 378396
| | 2/25 ~ 3/13] 378396 % 0208 X 18 / 365 = 5560 I \ | l \
H12.3.24 | 34686 |  3/14 ~ 3/23 478306 X 0398 x 10/ 365 = 4126 L o6 | o| 25000 353396|
' 3/24 ~  4/11 353,306 % 0208 X 49 / 365 = 5481 n ] \ l \
Hi2.4.25 35593 4/12 ~ 4/24 353396 % 0398 X 18 / 265 = 5,009 lL 104901 0] 25.103\ 328.293\
4/25 ~ 5/11\ 328203 % 0298 X 17 / 365 = 4,556 H \ l l J
| Hi2525 | 22008 | 5/12 ~ 5/26]  3pap03 X 0398 X 13 / 365 = 4653 | 9,200 | 0| 25430  302863|
r \ 5/25 ~ 6/12| 302,863 % 0.298 X 19 / 365 = . 4,698 ﬂ \ l l J
r H12.6.26 \ 34,431 l 6/13 ~ 6/25\ 302,863 % 0398 X 13 / 365 = 4,293 \L 8,991 \ ‘ o\ 25,440\ ‘ 277,423|
r l \ 6/26 ~ 7/11\ 977,423 % 0208 X 1§ / 8365 = 3,623 n \ \ \ J
rH12-7-25 \ 33_215l 7/12 ~ 7/24\ 977423 % 0388 X 13 / 365 = 3.932” 7,555\ o\ 25,660\ 251,7@
| | ~ 7/25 ~ 8/11] 951763 X 0298 X 18 / 365 = 3,699 || \ \ \ \
H12.825 | 20267  8/12~ 8/24] 051763 X 0398 X 13 / 365 = 3568 | 7267 o| 25000 226763
\ \ 8/25 ~ 9/11] 206763 % 0298 X 18 / 185 = 3332 ﬂ \ \ \ J
H12.025 | aigaz|  9/12 ~ 0/24]  ppe768 % 0398 X 13 / 365 = 3214 || 6546 | 0| 2500 201,667|
\ 9/25 ~ 10/11\ 201,667 % 0208 X 17 / 365 = 2.799\ l l ] l




No.4
| H12.10.25 30749 | 10/12 ~ 10/24| 201667 X 0398 X 13 / 365 = 2,858 | 5,657 o 26002] 176575|
T 10/25 ~ 11/13| 176575 X 0298 X 20 / 365 = 2,883 || |
H12.11.27 30,538 11/14 ~ 11/28 176,575 * 0388 X 13 / 365 = 2,503 L 5,386] 0 25,152 151.42§\
H12.12.29 30,465 11/27 ~ 12/28 161,423 % 0208 X 32 / 365 = 3,956 3.956‘ 0 26,509 124,914[
H13.1.29 28,161 12/29 ~ 1/28 124914 % 0298 X 31 / 365 = 3,161 3,161 0 25,000 99,914|
\*H'IS.Z.ZG 27,692 1/29 ~ 2/25 99014 % 0288 X 28 / 365 = 2,284 2,284 0 25.408| 74.50&]
| H13.3.26 27003 |  2/26 ~  3/25| 74506 % 0298 X 28 / 385 = 1,703 1,703 | 0| 25390  49.116|
3/26 ~ 4/11] 49116 % 0298 X {7 / 365 = 681 l \ l \
L13.4.95 96,762 4AM2 ~ 4/24 49116 X 0398 X {3 / 365 = 696 |L 1,377 | ol 25385| 23,731
4/25 ~ 5/11 73,731 X 0288 X 17 / 365 = 3291 l \ J
H13.5.24 24370  5/12 ~ 5/23 23,731 X 0388 X 12 / 385 = ato |l 639 | o 23731 o
o x 0398 X / 365 = \ l |
~ X 0398 X / 365 = | \ o
~ l X 0.388 X / 365 =
s \ X 0.398 X / 385 =
~ x 0398 X / 865 =
~ x 0398 X / 365 = 1 1 ]
i x 0398 X / 365 = l | \ |
B - <oss X/ s — RS
e X 0398 X / 385 = | \ l [
- X 0398 X / 385 = ] \ | |
e %X 0398 X / 865 = l 1 \ l
| - x 0.398 X /385 = ] \ \ ]
( l ~ x 0398 X / 365 = l ll ‘ \
" | » X 0398 X / 365 = | | |
i \ N X 0398 X / 385 = | | l
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